pa%e’l_

Fend. bne Qolloustng lengtns i kernns of gcn g ond cos 4
A

DB ‘ cos@“-‘_%& _ [Son caH A
:{FOBZCQSQ‘J

O B
Ak : stn B =_ATB_ [SOH & oA
=|AR =sin g -
BC.: € 46 \
) ) | __C
OC =1, since the rodcus of e corele s
OR = cos 9
RC=0C —-0R =1 —cos8
lBC =1 -cas 9] versin9 = 1 —coe§
A >0 bongent aluusoys meeks e roddus ak cighls-ang'es
on: awsf=_1 SOH CAH T

O 0




Smge EOB (3 onn,ahb qnca{,e,) .
eE0A=90° -9 _ __ :
~ Sinee angles cn_a bréongle hawe
o sum o) |Z0S

_ 0éAa=1|20- @0)- ~Go- e>
~0EA =0 e |
sinG=24_ .
€0

_ [SoH cal ToA]

AG:

A and OR are kOOf\QMEL} :
Q%O&Lm Wnes tn o cecbongle
(stnce. all_ ongles tn rectang(e OGAR

oct porollel). There feoce,
AG =08 = cos ©

&0

G0 = AR asB/xanq,m arollel, equal ({nes
S SE— ____maﬁef,(ﬁf\ql@

(G0 =AB=snd

g



_?*\\ FO =1, since bre radius & 1
911 G\O:S(:qe

%
- o =0 —in() @
I‘L‘“ FG=T —sinb

CO\(?J”SCng'f—j_..._SL‘nQ
~sE —(1—snf) — sen 6
Pl ] +<cnb —sin b

Sunf
24 =1

sung

=EE= 1 —slab
sind |

vercos 8= 1L+ cas 6

—F =HQO+08
forcos 8 =H B |

covercasd =1 + sin 8

= 10+0G
fowwcos § =T G




page. 4
| relakionship bebween versing ond cove/scra

COS@-TS'CQ(%“:-@

F&i@wgne{'-%\ A 8C = versdn §
- —ve{sm(%_@ FG) couerson
GOA=90°-§ =S
_AGB=8
BC:\JE{"Sm‘e
=ouersin (3o -§) mmPLgnﬂ%nkgwaﬁ

ccm&rs{n@ =F@, so \/'EX‘S_O'\(C{.O"-'&) = FG also,

“ couersin @ = versin (qo &)

Q0° = (\"M}
ir.outrs{.n 6 = Versin (_U;? - 8)7
relakionship beluseen vercosine ond covercosing:

HB = wercas 9
IR = covercesg
(mPWE?éﬂ

T@=@uerces (A0 - e))
8= couerces (90°-6)

covercos § = vercos (0°-8)
couefcosﬂ = vercos (I —§) /

I

~The pfe?wL co” means o apply Bhe Lunckion to Yre






